
Schroff gmbh, Langenalber Strasse 96–100, D-75334 Straubenhardt   WWW.PENTAIREQUIPMENTPROTECTION.COM

Main Catalog
24th Edition

Main Catalog
24th Edition | October 2012

39601-641 © 2012 Pentair Equipment Protection

Equipment Protection Solutions

18002_Hauptkatalog_Schroff_Umschlag_AK03_EN.indd   1 10.10.2012   11:15:02

07 Front panels, plug-in units                                                                                                           .







Part number in bold face type: ready for despatch within 2 working days
Part number in normal type: ready for despatch within 10 working days

7.74 Main Catalogue
E  10/2012

Frame type plug-in units PRO ServicePLUS

Frame type plug-in units PRO ServicePLUS

configuration Simple. Fast. For the product you want.

Components can be varied and combined 
freely

� Configuration tables for frame type plug-in units PRO from page

� Configuration tables for HF plug-in units from page 

� Online configuration: www.schroff.co.uk/configuration

assembly Assembled by professionals. Double benefit!

Fitting of all mechanical, electrical and 
electronic components by our specialists 

� Professional and reliable

� Packaged ready for despatch

modification Small changes. Large impact.

Custom drillings, cut-outs and special colours 
for off-the-shelf products

� Holes, cut-outs, drill holes, individual colour and printing

solution Simple. Fast. From one source.

Integration and custom developments � Special sizes, custom solutions

� Heat dissipation concepts

� EMC solutions

express When fast has to be faster.

Delivery time to customer's request � Delivery time for front panels from 2 working days; 
for frame-type plug-in units from 5 working days

academy Knowledge. Sharing. Partnerships.

Knowledge transfer and partnership � Downloadable CAD drawings, test reports, user manual

FRONT PANEL

EXPRESS

 7.75

 7.90

7_3_Kassetten_e.fm  Seite 74  Donnerstag, 20. September 2012  9:03 09



7.75

Frame type plug-in units PRO ServicePLUS

Part number in bold face type: ready for despatch within 2 working days
Part number in normal type: ready for despatch within 10 working days

Main Catalogue
E  12/2012

Frame type plug-in units PRO ServicePLUS

Individual 
components Front panels, front handles

Front panel Shieldable front panel, U profile Trapeziform handle, grey 
(without extraction function)

unshielded Front panel Textile EMC gasket Grey Black

04808124 04808060 04808061 04808062 04808063

Supplied 
quantity for 
assembly of 
5 frame type 
plug-in units

Al, 2.5 mm, 
front anodised, 
rear iridescent 

green chromated, 
cut edges blank

Al extrusion, 
alignment pin 
pressed-in, 

front anodised, 
rear conductive

always fixed laterally on the front 
panel, in the groove of the profile,

textile gasket, core: foam, 
sleeve: textile cladding with 

CuNi coating, UL 94 V-0, 
temperature range -40 ... 70 °C

handle: PPE, UL 94 V-1; 
identification plate: 

Al, 1.5 mm, anodised, 
cut edges plain; 

please order clip separately 
(included in mounting kit for 

five plug-in units or individual parts) 
 7.78

1 piece (SPQ 5)1) 1 piece (SPQ 5)1) PU 10 pieces PU 100 pieces 1 piece (SPQ 5)1) 1 piece (SPQ 5)1)

Width 3 U Height
HP  PCB depth 160 mm
8 34812-108 34813-108

21101-853 21101-854

20808-062 20808-083
10 34812-110 34813-110 20808-004 20808-085
12 34812-112 34813-112 20808-064 20808-086
14 34812-114 34813-114 20808-065 20808-087
21 34812-121 34813-121 20808-066 20808-088
28 34812-128 34813-128 20808-067 20808-089
42 34812-142 34813-142 20808-068 20808-091

 PCB depth 220 mm
8 34812-108 34813-108

21101-853 21101-854

20808-062 20808-083
10 34812-110 34813-110 20808-004 20808-085
12 34812-112 34813-112 20808-064 20808-086
14 34812-114 34813-114 20808-065 20808-087
21 34812-121 34813-121 20808-066 20808-088
28 34812-128 34813-128 20808-067 20808-089
42 34812-142 34813-142 20808-068 20808-091

Width 6 U Height
HP  PCB depth 160 mm
8 34812-608 34813-608

21101-855 21101-856

20808-062 20808-083
10 34812-610 34813-610 20808-004 20808-085
12 34812-612 34813-612 20808-064 20808-086
14 34812-614 34813-614 20808-065 20808-087
21 34812-621 34813-621 20808-066 20808-088
28 34812-628 34813-628 20808-067 20808-089
42 34812-642 34813-642 20808-068 20808-091

 PCB depth 220 mm
8 34812-608 34813-608

21101-855 21101-856

20808-062 20808-083
10 34812-610 34813-610 20808-004 20808-085
12 34812-612 34813-612 20808-064 20808-086
14 34812-614 34813-614 20808-065 20808-087
21 34812-621 34813-621 20808-066 20808-088
28 34812-628 34813-628 20808-067 20808-089
42 34812-642 34813-642 20808-068 20808-091

Dimensions 
see page   7.82  7.82  7.82  7.82

1) SPQ (standard pack quantity): Part number includes 1 piece, but delivery is exclusively made in standard pack 
quantity (SPQ); please order at least the SPQ quantity or a multiple
Part no. includes one packing unit (PU); delivery is exclusively made in PU



Part number in bold face type: ready for despatch within 2 working days
Part number in normal type: ready for despatch within 10 working days

7.76 Main Catalogue
E  12/2012

Frame type plug-in units PRO ServicePLUS

Individual 
components Side panels, cover plates, guide rails

Extruded side panel Extruded side panel 
with cooling fins

Side panel, corner profile 
and side plate

Cover plate

Left Right Left Right Corner profile Side plate Without 
perforation

With perforation

04808124 04808065 04811050 04808066 04808067 04808068 04808070

Supplied 
quantity for 
assembly of 
5 frame type 
plug-in units

Al extrusion, colourless passivated, 
with groove for one PCB; 

3 U symmetrical; 6 U asymmetrical, 
right and left side panel different)

Side panels with and without cooling 
fins can be combined

Al extrusion, colourless passivated, 
with groove for one PCB; 

3 U symmetrical; 6 U asymmetrical

Side panels with and without cooling 
fins can be combined

Al extrusion, 
colourless  
passivated,  

with groove for 
one PCB, 

please order side 
plate separately

St, 1 mm, 
zinc-plated, 

is inserted into 
side panel rear 

angle

St, 1.0 mm, 
zinc-plated; 
PCB only 

possible in slot 1

St, 1.2 mm, Al, 
airflow rate in 

perforated area 
approx. 65 %; 

PCB only 
possible in slot 1

1 piece 
(SPQ 10)1)

1 piece 
(SPQ 10)1)

1 piece 
(SPQ 10)1)

1 piece 
(SPQ 10)1)

1 piece 
(SPQ 10)1)

1 piece 
(SPQ 5)1)

1 piece 
(SPQ 10)1)

1 piece 
(SPQ 10)1)

Width 3 U Height
HP  PCB depth 160 mm
8

34812-100
1 piece 

(SPQ 10)1)

34812-100
1 piece 

(SPQ 10)1)

34812-200 34812-200 34812-102 34812-103

34812-408 34812-958
10 34812-410 34812-960
12 34812-412 34812-962
14 34812-414 34812-964
21 34812-421 34812-971
28 34812-428 34812-978
42 34812-442 34812-992

 PCB depth 220 mm
8

34813-100
1 piece 

(SPQ 10)1)

34813-100
1 piece 

(SPQ 10)1)

34813-200 34813-200 34813-102 34813-103

34813-408 34813-958
10 34813-410 34813-960
12 34813-412 34813-962
14 34813-414 34813-964
21 34813-421 34813-971
28 34813-428 34813-978
42 34813-442 34813-992

Width 6 U Height
HP  PCB depth 160 mm
8

34812-600
1 piece 

(SPQ 5)1)

34812-601
1 piece 

(SPQ 5)1)

– 34812-701 34812-102 34812-603

34812-408 34812-958
10 34812-410 34812-960
12 34812-412 34812-962
14 34812-414 34812-964
21 34812-421 34812-971
28 34812-428 34812-978
42 34812-442 34812-992

 PCB depth 220 mm
8

34813-600
1 piece 

(SPQ 5)1)

34813-601
1 piece 

(SPQ 5)1)

– 34813-701 34813-102 34813-603

34813-408 34813-958
10 34813-410 34813-960
12 34813-412 34813-962
14 34813-414 34813-964
21 34813-421 34813-971
28 34813-428 34813-978
42 34813-442 34813-992

Dimensions 
see page   7.80  7.80  7.80  7.80  7.81  7.81  7.84  7.84

1) SPQ (standard pack quantity): Part number includes 1 piece, but delivery is exclusively made in standard pack quantity (SPQ); 
please order at least the SPQ quantity or a multiple



7.77

Frame type plug-in units PRO ServicePLUS

Part number in bold face type: ready for despatch within 2 working days
Part number in normal type: ready for despatch within 10 working days

Main Catalogue
E  12/2012

Individual 
components Rear panels, assembly material

With perforation for guide rails Rear panel Rear panel 
fastener

Assembly kit 

Cover plate Guide rail Without cut-out Cut-out for
one connector

Cut-out for 
multiple 

connectors

for connection of 
rear panel with 

cover plate

for mounting five 3 U 
or 6 U frame type 
plug-in units from 

ServicePLUS 
components: 
front panel, 
rear panel, 
side panel, 

cover plate and 
handle,

description see 
page 
 7.78

04808124 04808069 04808074 04808073 04808071 04808072 04808123

Supplied 
quantity for 
assembly of 
5 frame type 
plug-in units

St, 1.0 mm, 
zinc-plated; 

air flow rate in 
perforated area 
approx. 60 %; 

please order snap-in 
guide rails 
separately

PBT, UL 94 V-0, red, 
groove width 2 mm,
PCB fixing required 

from slot 2,
see page

 7.79

St, 1.5 mm, 
zinc-plated

St, 1.5 mm, 
zinc-plated

St, 1.5 mm, 
zinc-plated,

for EN 60603 
(DIN 41612) 
connectors, 

types: 
B, C, D, F, H, Q, R, S

10 rear panel 
fasteners, 

Zn die-cast;
10 fixing screws;  

not suitable 
for cover plate 
with perforation

1 piece (SPQ 10)1) PU 10 pieces 1 piece (SPQ 5)1) 1 piece (SPQ 5)1) 1 piece (SPQ 5)1) PU 1 kit PU 1 kit
Width 3 U Height
HP  PCB depth 160 mm
8 34812-908

24812-101

34813-208 34812-208 34812-308

24812-401 24812-100

10 34812-910 34813-210 34812-210 34812-310
12 34812-912 34813-212 34812-212 34812-312
14 34812-914 34813-214 34812-214 34812-314
21 34812-921 34813-221 34812-221 34812-321
28 34812-928 34813-228 34812-228 34812-328
42 34812-942 34813-242 34812-242 34812-342

 PCB depth 220 mm
8 34813-908

24812-101

34813-208 34812-208 34812-308

24812-401 24812-100

10 34813-910 34813-210 34812-210 34812-310
12 34813-912 34813-212 34812-212 34812-312
14 34813-914 34813-214 34812-214 34812-314
21 34813-921 34813-221 34812-221 34812-321
28 34813-928 34813-228 34812-228 34812-328
42 34813-942 34813-242 34812-242 34812-342

Width 6 U Height
HP  PCB depth 160 mm
8 34812-908

24812-101

34813-708 34812-708 34812-808

24812-401 24812-100

10 34812-910 34813-710 34812-710 34812-810
12 34812-912 34813-712 34812-712 34812-812
14 34812-914 34813-714 34812-714 34812-814
21 34812-921 34813-721 34812-721 34812-821
28 34812-928 34813-728 34812-728 34812-828
42 34812-942 34813-742 34812-742 34812-842

 PCB depth 220 mm
8 34813-908

24812-101

34813-708 34812-708 34812-808

24812-401 24812-100

10 34813-910 34813-710 34812-710 34812-810
12 34813-912 34813-712 34812-712 34812-812
14 34813-914 34813-714 34812-714 34812-814
21 34813-921 34813-721 34812-721 34812-821
28 34813-928 34813-728 34812-728 34812-828
42 34813-942 34813-742 34812-742 34812-842

Dimensions see 
page   7.84  7.84  7.83  7.83  7.83

1) SPQ (standard pack quantity): Part number includes 1 piece, but delivery is exclusively made in standard pack quantity (SPQ); 
please order at least the SPQ quantity or a multiple
Part no. includes one packing unit (PU); delivery is exclusively made in PU



Part number in bold face type: ready for despatch within 2 working days
Part number in normal type: ready for despatch within 10 working days

7.78 Main Catalogue
E  10/2012

Frame type plug-in units PRO ServicePLUS

� Further collar screws and sleeves see page  7.107

Individual 
components Fixing material (100 pieces)

04808085

Fixing parts Item Required quantity
per plug-in unit

Description Qty/PU Part no.

Fixing parts for mounting the module in subrack or case
Torx panhead screw, 
M2.5 x 10, St, zinc-plated, 
self-forming thread

1 2 Assembly of handle on front panel 100 24560-179
aza45940

Pozidrive/slotted collar screw 
M2.5 × 11, St, nickel-plated 

2a 4 / 6* Mounting of front panel on horizontal rail with 
threaded insert pushed in to front 100 21100-748

aza46586 06107050

Pozidrive/slotted collar screw 
M2.5 × 12.3, St, nickel-plated

2b 4 / 6*
Front panel is fitted to horizontal rail with 
threaded insert pushed in to rear in the 
standard position

100 21101-101
aza46586 06107051

Plastic sleeves
for form hole 5.9 x 3.3, 
PA, UL 94 V-2, grey

3 4 / 6* Is needed to fix collar screws 100 21100-464
aza45933

Fixing parts for mounting the module
Torx raised countersunk 
panhead screw
3 x 20, St, nickel-plated

4 8
Assembly of front panel and rear panel on 
extruded side panel/rear extrusion of side 
panel

100 24812-501
06708052

Fixing clip for trapeziform 
plastic handle 
PPE UL 94 V 0, black

5 2 Alignment aid for handle on front panel 100 21101-239
04608090

Rear panel fastener
Zn die-cast

6 2 To stabilise rear panel with wide frame-type 
plug-in units 100 24812-402

04808128

Torx panhead screw
M2.5 × 10, St, nickel-plated

7 2 To fix rear panel fastener or board fixing 100 24560-148
aza45940

Board support (slot 1)
Zn die-cast

2 Board support (slot 1)
see page 7.79 50 pairs 24812-202

04808126

Board support (from slot 2)
Zn die-cast

2 Board support (from slot 2)
see page 7.79 50 pairs 24812-302

04808127

Torx panhead screw
M2.5 × 6, St, nickel-plated

2 Is needed for board fixing without connector
see page 7.79 100 24560-178

aza45940

* on 42 HP EMC shielded frame type plug-in units

5

2a / 2b

3

41

4

6 7

7_3_Kassetten_e.fm  Seite 78  Donnerstag, 20. September 2012  9:03 09



7.79

Frame type plug-in units PRO ServicePLUS

Part number in bold face type: ready for despatch within 2 working days
Part number in normal type: ready for despatch within 10 working days

Main Catalogue
E  10/2012

Individual 
components Board fixing

Board fixing slot 1 Board fixing from slot 2

With connector 
from slot 2

Without connector 
from slot 2

04808118 04808109 04808129 04808119 04808110 bga42785 kaa46417

Zn die-cast, Torx panhead screw M2.5 x 10; 
PCB is pushed into the guiding groove of the left side panel/

side panel rear angle, is fixed with rear panel

Zn die-cast, Torx panhead screw M2.5 x 10; 
PCB is pushed into guide rail, 

is fixed with rear panel

Height PU 5 pair PU 5 pair

3 U 24812-201 24812-301

6 U 24812-201 24812-301

Assembly kits With connector 
from slot 2

Without connector 
from slot 2

Torx panhead screw, M2.5 x 6, St, 
nickel-plated, PU 100 pieces;
is needed for board fixing without 
connector

24560-178 – 24560-178

aza45940

Connector mounting on PCB, for 
6 U frame type plug-in units (centre) 
Torx panhead screw M2.5 x 10, 
nut M2.5; PU 10 pieces 
(screw + nut)

24812-600 24812-600

04808120

Slot 1
Slot 1

Slot 2

Slot 3 Slot 1

Slot 2

Slot 3

7_3_Kassetten_e.fm  Seite 79  Donnerstag, 20. September 2012  9:03 09



Part number in bold face type: ready for despatch within 2 working days
Part number in normal type: ready for despatch within 10 working days

7.80 Main Catalogue
E  10/2012

Frame type plug-in units PRO

Frame type plug-in units PROMain CataloguePart number in bold face type: ready for despatch within 2 working daysPart number in normal type: ready for despatch within 10 working days

Frame type plug-in units PROMain CataloguePart number in bold face type: ready for despatch within 2 working daysPart number in normal type: ready for despatch within 10 working days

Dimensions Side panel without cooling fins

3 U 6 U

04808101 04808102

Depth = 167/227 mm

7
0

6
3
,4

1
0
0
,4

5

9
6
,4

5

1
0
3
,7

5

3,0

9,5

2,0

10,6

13,3

9
9
,5

5

1
1
1
,1

5

1
6
,5

D

2
3

2
,6

2
4

4
,2

2
0

3
,3

5

2
3

7
,1

2
3

4
,1

1
9

4
,9

2
3

0
,1

2,0

9,2

1
6

,5

3,3

10,6

13,3

D

6,7

2
7

,4

Dimensions Side panel with cooling fins

3 U 6 U

04811051 04811052

Depth = 167/227 mm

7
0

1
0

0
,4

5

1
0

3
,7

5

10,6

3,4

10,6

13,3

9
9

,5
5

1
1
1

,1
5

D

2
3

2
,6

2
4

4
,2

2
0

3
,3

5

2
3

4
,1

2
3

7
,1

3,4

10,6

10,6

13,3

D

6,7

2
7

,4

7_3_Kassetten_e.fm  Seite 80  Donnerstag, 20. September 2012  9:03 09



7.81

Frame type plug-in units PRO

Part number in bold face type: ready for despatch within 2 working days
Part number in normal type: ready for despatch within 10 working days

Main Catalogue
E  10/2012

Frame type plug-in units PROMain CataloguePart number in bold face type: ready for despatch within 2 working daysPart number in normal type: ready for despatch within 10 working days

Frame type plug-in units PROMain CataloguePart number in bold face type: ready for despatch within 2 working daysPart number in normal type: ready for despatch within 10 working days

Dimensions Side panel rear angle

04808103

Depth = 167/227 mm

D

1
4
,8

1
6
,9

2
6
,3

2,0

3

10,6

9,3

13,3

1
6
,5

1
8
,9

5

2
0
,9

5

Dimensions Side plate

6

04808100 04808099

3 U for side panel rear angle 6 U for side panel rear angle

6
2

,8

D

7

D

1
9
6
,1

5

2
7
,4

7_3_Kassetten_e.fm  Seite 81  Donnerstag, 20. September 2012  9:03 09



Part number in bold face type: ready for despatch within 2 working days
Part number in normal type: ready for despatch within 10 working days

7.82 Main Catalogue
E  10/2012

Frame type plug-in units PRO

Text

Text

Text

Dimensions Front panels

Unshielded Shieldable, for EMC textile gasket
3 U 6 U 3 U 6 U

04808086 04808087 04808088 04808089

1
2
2
,4

3

1
2
8
,4

7
0

5,03

7,45b

A

2
9
,2

1
4
,7

10,16 d

Ø 5,9 x 3,3

Ø
2,

5 Ø 2,2

Ø 3,9

A A

c

2
,5

“X” “X”

“X”

90°

Ø 5,8

Ø 3,9

A-A

5,03

7b

A

Ø 5,9 x 3,3

A A

c

5,03

7,45b

A

Ø 5,9 x 3,3

A A

c

2
5
5
,7

5
3

2
6
1
,7

5

2
0
3
,3

5
2
9
,2

1
4
,7

10,16 d

Ø
2,

5
Ø 2,2

Ø 3,9

2
,5

“X” “X”

“X”

90°

Ø 5,8

Ø 3,9

A-A

1
2
2
,4

3

7
0

5,03

7,b

A

2
9
,2

1
4
,7

10,16

5,08

d

Ø 5,9 x 3,3

Ø
2,5Ø 2,2

Ø 3,9

A A

c

6
,2

5
Ø 2,5

2
,5

“X” “X”

“X”A-A

1
2

2
,4

3

1
2

8
,4

7
0

5,03

7,45b

A

2
9

,2

1
4

,7

10,16

5,08

d

Ø 5,9 x 3,3

Ø
2,5Ø 2,2

Ø 3,9

A A

c

6
,2

5

Ø 2,5

2
,5

“X” “X”

“X”

90°

Ø 5,8

Ø 3,9
A-A

5,03

7,b

A

Ø 5,9 x 3,3

A A

c

2
5
5
,7

5

2
0
3
,3

5

Ø 3,9

5,08

Ø
2

5Ø 2 2

5,03

7,45b

A

Ø 5,9 x 3,3

A A

c

2
5

5
,7

5
3

2
6

1
,7

5

2
0

3
,3

5
2

9
,2

1
4

,7

10,16 d

Ø 3,9

5,08

Ø
2,5Ø 2,2

6
,2

5

Ø 2,5

2
,5

“X” “X”

“X”

90°

Ø 5,8

Ø 3,9
A-A

Dimensions table
A b c d

Width mm mm mm mm
8 HP 40.30 25.40 30.24 5.08

10 HP 50.46 35.56 40.40 15.24
12 HP 60.62 45.72 50.56 25.40
14 HP 70.78 55.88 60.72 35.56
21 HP 106.34 91.44 96.28 71.12
28 HP 141.90 127.00 131.84 106.68
42 HP 213.02 198.12 202.96 177.80

Dimensions Front handle

Dimensions table
Width Width

HP mm
8 HP 39.2

10 HP 49.4
12 HP 59.6
14 HP 69.7
21 HP 105.2
28 HP 140.8

A4-328e 42 HP 212.0

7_3_Kassetten_e.fm  Seite 82  Donnerstag, 20. September 2012  9:03 09



7.83

Frame type plug-in units PRO

Part number in bold face type: ready for despatch within 2 working days
Part number in normal type: ready for despatch within 10 working days

Main Catalogue
E  10/2012

Text

Text

Dimensions Rear panel 3 U

Without cut-out For one connector For multiple connectors

Dimensions table
A B C

HP mm mm mm
8 HP 37.04 30.24 20.18

10 HP 47.20 40.40 30.34
12 HP 57.36 50.56 40.50
14 HP 67.52 60.72 50.66
21 HP 103.08 96.28 86.22
28 HP 138.64 131.84 121.78
42 HP 209.76 202.96 192.90

04808092 04808091 04808090

7
0

1
0
1

1
0
9
,1

1,5Ø 4,8

Ø 2,8

n x 5,08

B

A

7
0

9
1

1
0

1

1
0

9
,1

1,5

15,7

n x 5,08

B

A

5,03

Ø 4,8

Ø 2,8

7
0

9
1

1
0

1

1
0

9
,1

1,5

C

n x 5,08

B

A

5,03

Ø 4,8

Ø 2,8

Dimensions Rear panel 6 U

Without cut-out For one connector For multiple connectors

Dimensions table
A B C

HP mm mm mm
8 HP 37.04 30.24 20.18

10 HP 47.20 40.40 30.34
12 HP 57.36 50.56 40.50
14 HP 67.52 60.72 50.66
21 HP 103.08 96.28 86.22
28 HP 138.64 131.84 121.78
42 HP 209.76 202.96 192.90

04808095 04808094 04808093

2
0

3
,3

5

2
3

4
,3

5

2
4

2
,4

5

n x 5,08

B

A

1,5

7,5

Ø 4,8

Ø 3,3 x 2,8

2
0
3
,3

5

1
3
3
,3

5
9
,0

5

2
3
4
,3

5

2
4
2
,4

5

n x 5,08

B

A

1,5

7,5

Ø 4,8

Ø 3,3 x 2,8

9
1

9
1

15,7

5,03

3
2

,3
5

1
0

1
1

0
1

2
0

3
,3

5

1
3

3
,3

5
9

,0
5

2
3

4
,3

5

2
4

2
,4

5

9
1

9
1

C

n x 5,08

B

A

5,03

1,5

7,5

Ø 4,8

Ø 3,3 x 2,8

7_3_Kassetten_e.fm  Seite 83  Donnerstag, 20. September 2012  9:03 09



Part number in bold face type: ready for despatch within 2 working days
Part number in normal type: ready for despatch within 10 working days

7.84 Main Catalogue
E  10/2012

Frame type plug-in units PRO

Text

Text

Dimensions Guide rail

04808096 04808088

6,9 (66,9)

2,54 160 (220)

141

Dimensions Cover plates

without perforation with perforation for guide rail mounting

04808104 04808106 04808105

D = 167/227 mm

D D D

7_3_Kassetten_e.fm  Seite 84  Donnerstag, 20. September 2012  9:03 09



7.85

Frame type plug-in units PRO

Part number in bold face type: ready for despatch within 2 working days
Part number in normal type: ready for despatch within 10 working days

Main Catalogue
E  10/2012

� Mounting pitch for guide rails: 1 HP

� Min. distance between 2 guide rails: 2 HP

Dimensions table

Dimensions Mounting instructions for guide rails in frame type plug-in units

Slot 1 + slot 2 Front view

04809050

Slot 2

04809051 04808107
TE = HP = F
1) Division line
2) Guide rail rotated by 180° from standard position
3) The first PCB is held in the extruded side panel, corresponds 

to standard position (slot 1)
4) All additional PCBs are fitted into guide rails (from slot 2) 
5) Min. 1 HP where slot 1 is not used (slot 2)
6) Dependent on construction of connector used 

(not every connector allows a 2 HP fitting)

min. 2 TE/ HP/ F

min. 2 TE/ HP/ F

S1

L R

S2

4,07

2 TE

min. 2 TE

min. 2 TE

b

TE x 5,08

min.8,7

1)

2)

4),5),6)

4),6)

3)
S2S1

4)

min. 1 TE/ HP/ F

min. 2 TE/ HP/ F

S2

L R

Width of frame type 
plug-in unit

b Max. number of PCBs mountable

HP mm slot 1 from slot 2

8
– 1 1

5.08 –  1 5) 

10
10.16 1  1 6) 

15.24 – 2 5)6)

12
20.32 1  2 6) 

25.40 – 3 5) 6) 

14
30.48 1  3 6) 

35.56 – 4 5) 6)

21
71.12 1  7 6) 

66.04 – 7 5) 6)

28
101.60 1  10 6) 

106.68 – 11 5) 6)

42
172.72 1  17 6) 

177.80 – 18 5) 6)

Dimensions Mounting space frame-type plug-in unit 3 U/6 U

Front view

04808097 04808098

6
2

,9

3,2

2,0

9,5

10,8

A = TE x 5,08 - 9,94

9
5

,9

1
0

3
,3

1
6

,5

2,0

9,2

3,2

10,5

A = TE x 5,08 - 10,54

2
2

8
,0

1
9

3
,9

2
3

7
,3

1
6

,5

Height Width A
U HP mm
3 8 30.70
3 10 40.86
3 12 51.02
3 14 61.18
3 21 96.74
3 28 132.30
3 42 203.42
6 8 30.10
6 10 40.26
6 12 50.42
6 14 60.58
6 21 96.14
6 28 131,70
6 42 202.82

7_3_Kassetten_e.fm  Seite 85  Donnerstag, 20. September 2012  9:03 09



Part number in bold face type: ready for despatch within 2 working days
Part number in normal type: ready for despatch within 10 working days

7.86 Main Catalogue
E  10/2012

Frame type plug-in units PRO with hood

 ServicePLUS see page 7.74

Frame type plug-in units PRO with hood

� Protects a PCB against mechanical damage and deflects 
electrostatic discharge; for euroboard formats

� Suitable in all subracks and these cases: 
ratiopacPRO/-air, propacPRO and compacPRO

� Useable connectors in accordance with EN 60603-2 
(DIN 41612)

� 2 depths, for 160 mm and 220 mm boards

Delivery comprises (kit)

Order Information

� Dimension drawings see from page  7.88

Frame type plug-in units PRO with hood, 3/6 U, 
front panel shielded (textile gasket)

04808007

Illustration shows 12 HP width, side panel depth 167 mm 

Item Qty Description
1 1 Front panel, U profile, 2.5 mm, front anodised, 

rear conductive, alignment pin pressed-in
2 1 Handle, grey, PPE, UL 94 V-1
3 1 Side panel, Al extrusion, colourless passivated, 

with groove for one PCB
4 1 Hood, Al, 1 mm, with perforation, rear panel integrated
5 1 EMC textile gasket
6 1 Assembly kit (incl. PCB fixing for slot 1)

5 HP 6 ... 14 HP Height Width Depth = 167 mm Depth = 227 mm
U HP Part no. Part no.

3 5 24813-005 24813-055

3 6 24813-006 24813-056

3 7 24813-007 24813-057

3 10 24813-010 24813-060

3 12 24813-012 24813-062

04808075 04808113
3 14 24813-014 24813-064

6 5 24813-505 24813-555

6 6 24813-506 24813-556

6 7 24813-507 24813-557

6 10 24813-510 24813-560

6 12 24813-512 24813-562

04808076 04808114

6 14 24813-514 24813-564

1

5

3

2

4

5

3

2

1

4

1

5

3

2

4

1

5

3

4

2

7_3_Kassetten_e.fm  Seite 86  Donnerstag, 20. September 2012  9:03 09



7.87

Frame type plug-in units PRO with hood

Part number in bold face type: ready for despatch within 2 working days
Part number in normal type: ready for despatch within 10 working days

Main Catalogue
E  10/2012

 ServicePLUS see page 7.74

� Protects a PCB against mechanical damage and deflects 
electrostatic discharge; for euroboard formats

� Suitable in all subracks and these cases: 
ratiopacPRO/-air, propacPRO and compacPRO

� Useable connectors in accordance with EN 60603-2 
(DIN 41612)

� 2 depths, for 160 mm or 220 mm board

Delivery comprises (kit)

Order Information

� Dimension drawings see from page  7.88

Plug-in units PRO with hood, 3/6 U, front 
panel unshielded

04808002

Illustration shows 12 HP width, side panel depth 167 mm 

Item Qty Description
1 1 Front panel, Al, 2.5 mm, anodised, cut edges plain
2 1 Handle, grey, PPE, UL 94 V-1
3 1 Side panel, Al extrusion, colourless passivated, 

with groove for one PCB
4 1 Hood, Al, 1 mm, with perforation, rear panel integrated
5 1 Assembly kit (incl. PCB fixing for slot 1)

5 HP 6 ... 14 HP Height Width Depth = 167 mm Depth = 227 mm
U HP Part no. Part no.

3 5 24812-005 24812-055

3 6 24812-006 24812-056

3 7 24812-007 24812-057

3 10 24812-010 24812-060

3 12 24812-012 24812-062

04808077 04808115
3 14 24812-014 24812-064

6 5 24812-505 24812-555

6 6 24812-506 24812-556

6 7 24812-507 24812-557

6 10 24812-510 24812-560

6 12 24812-512 24812-562

04808078 04808116

6 14 24812-514 24812-564

1

2

4

3

1

2

4

3

1

3

4

2

7_3_Kassetten_e.fm  Seite 87  Donnerstag, 20. September 2012  9:03 09



Part number in bold face type: ready for despatch within 2 working days
Part number in normal type: ready for despatch within 10 working days

7.88 Main Catalogue
E  10/2012

Frame type plug-in units PRO with hood

Text

Main CataloguePart number in bold face type: ready for despatch within 2 working daysPart number in normal type: ready for despatch within 10 working days

Dimensions table

Dimensions Cross-section frame-type plug-in units PRO with hood 3 U/6 U

3 U 6 U
 Dimensions table

Height Width A
U HP mm
3 5 17.52
3 6 22.60
3 7 27.68
3 10 42.92
3 12 53.08
3 14 63.24
6 5 17.22
6 6 22.30
6 7 27.38
6 10 42.62
6 12 57.78
6 14 62.94

04808080 04808082

Dimensions Front handle

a4-328e

Width Width
HP mm
5 24.0
6 29.0
7 34.1
10 49.4
12 59.6
14 69.7

6
3

,4

3,2

10,8

A

9
6

,4

1
0

4
,8

5

1
6

,5

3,2

10,5

A

2
3

0
,1

1
9

4
,9

2
3

8
,2

1
6

,5

7_3_Kassetten_e.fm  Seite 88  Donnerstag, 20. September 2012  9:03 09



7.89

Frame type plug-in units PRO with hood

Part number in bold face type: ready for despatch within 2 working days
Part number in normal type: ready for despatch within 10 working days

Main Catalogue
E  10/2012

Frame type plug-in units PRO with hoodMain CataloguePart number in bold face type: ready for despatch within 2 working daysPart number in normal type: ready for despatch within 10 working days

Dimensions 3/6 U frame-type plug-in units PRO with hood

3 U Front panel shieldable Front panel unshielded

04808052 04808111

1
2
2
,4

3

1
2
8
,4

7
0

5,03

b

A

2
9
,2

1
4
,7

e

5,08

d

Ø 5,9 x 3,3

Ø
2,5Ø 2,2

Ø 3,9

A A

c

7,45 f

6
,2

5

Ø 2,5

2
,5

“X” “X”

“X”

90°

Ø 5,8

Ø 3,9
A-A

1
0
6

9
1

7
0

1
2
2
,4

3

1
2
8
,4

7
0

5,03

D 2,5 3,4b

A

2
9
,2

1
4
,7

e

7,45 f

13,9 8,415,7d

Ø 5,9 x 3,3

Ø
2,

5 Ø 2,2

Ø 3,9

A A

c

2
,5

“X” “X”

“X”

90°

Ø 5,8

Ø 3,9

A-A

6 U Front panel shieldable Front panel unshielded

04809053 04808112

5,03

b

A

Ø 5,9 x 3,3

A A

c

2
5

5
,7

5
3

2
6

1
,7

5

2
0

3
,3

5
2

9
,2

1
4

,7

e d

Ø 3,9

5,08

Ø
2,5Ø 2,2

7,45 f

6
,2

5

Ø 2,5

2
,5

“X” “X”

“X”

90°

Ø 5,8

Ø 3,9
A-A

5,03

b

A

Ø 5,9 x 3,3

A A

c

2
5
5
,7

5
3

2
6
1
,7

5

2
0
3
,3

5
2
9
,2

1
4
,7

e d

Ø
2,

5 Ø 2,2

Ø 3,9

D 2,5

13,9

9
1

2
0
3
,3

5

3,4

2
3
9
,3

5

9
1

4
2
,3

5

8,415,7

7,45 f

2
,5

“X” “X”

“X”

90°

Ø 5,8

Ø 3,9

A-A

Front panel
5 HP 6 + 7 HP

04809067 04809066

e7,45

f

Ø 2,5

Ø 2,2

e

7,45 f

Ø 2,5

Ø 2,2

Dimensions table
Width A b c d e f Depth D

HP mm mm mm mm mm mm mm
5 25.06 - 15.00 - 10.16 12.53

167 mm/ 
227 mm

6 30.14 - 20.08 - 10.16 7.45
7 35.22 - 25.16 - 10.16 7.45

10 50.46 35.56 40.40 15.24 10.16 7.45
12 60.62 45.72 50.56 25.40 10.16 7.45
14 70.78 55.88 60.72 35.56 10.16 7.45

7_3_Kassetten_e.fm  Seite 89  Donnerstag, 20. September 2012  9:03 09



Part number in bold face type: ready for despatch within 2 working days
Part number in normal type: ready for despatch within 10 working days

7.90 Main Catalogue
E  10/2012

HF frame type plug-in units

04892005

 ServicePLUS see page 7.74

HF frame type plug-in units

� With high shielding from high-frequency radiation

� To accept boards in HP grid increments

� Solid body on all sides, with cooling fins

Delivery comprises (kit)

Technical data

Order Information

Note
� Dimension drawings see from page  7.94

HF frame type plug-in units, 3 U kits, 
front panel shielded

Item Qty Description
1 1 Body tube, Al extrusion, black anodised, cut edges plain
2 1 Front panel, Al, 2.5 mm, with lateral grooves for 

EMC gasket (stainless steel), alignment pin pressed-in, 
front anodised, rear iridescent green chromated

3 1 Plastic handle, trapeziform, PPE, grey, identification 
plate, Al, anodised, cut edges plain

4 1 Rear panel, Al, 1.5 mm, etched without cut-outs
5 2 EMC gasket (steel, stainless)
6 1 Assembly kit

HF plug-in unit Thermal resistance K/W 
HP Depth = 167 mm Depth = 227 mm
7 1.68 1.51
10 1.62 1.46
12 1.56 1.40
14 1.50 1.35
21 1.06 0.95
28 0.94 0.85

Height Width Depth = 167 mm Depth = 227 mm
U HP Part no. Part no.

3 7 20809-529 20809-536

3 10 20809-530 20809-537

3 12 20809-531 20809-538

3 14 20809-532 20809-539

3 21 20809-533 20809-540

04802050

3 28 20809-534 20809-541

4

5

3

1

2

For further information www.schroff.biz/oneclick
oneClick search code = Part no.

7_3_Kassetten_e.fm  Seite 90  Donnerstag, 20. September 2012  9:03 09



7.91

HF frame type plug-in units ServicePLUS

Part number in bold face type: ready for despatch within 2 working days
Part number in normal type: ready for despatch within 10 working days

Main Catalogue
E  10/2012

HF frame type plug-in units ServicePLUS

Order Information

Individual 
components HF body tube, front panels with handle, rear panels

HF body tube Shieldable front 
panel, with handle

Shieldable front panel, with handle Rear panel
for 

EMC gasket  
(stainless steel)

EMC gasket 
(stainless steel)

Assembly tool without cut-out with cut-out

KAA45832 KAA45831 04807074 bga45760 aza45937 04807075 KAA45834

Al extrusion, 
black anodised, 
cut edges plain

Al, 2.5 mm, 
front anodised, 
rear iridescent 

green chromated; 
static handle, grey, 

PPE, UL 94 V-1

Al, 2.5 mm,
front anodised, rear 

iridescent green 
chromated, 

with lateral grooves 
for stainless steel 

EMC gasket 
(please order 
separately), 

alignment pin 
pressed-in, 

trapeziform handle, 
grey, PPE, 
UL 94 V-1

inserted laterally 
into the grooves of 

the front panel

to mount the 
EMC gasket 

(stainless steel)

Al, 1.5 mm, etched Al, 2.5 mm, etched, 
cut-out for 

connector types 
EN 60603 

(DIN 41612); 
7 HP: B, C, D, R; 

10 - 28 HP: B, C, D, 
R, F, H, MF, MH

Height Width 1 piece 
(SPQ 5)1)

1 piece 
(SPQ 5)1)

1 piece 
(SPQ 5)1)

PU 100 pieces 1 piece 1 piece 
(SPQ 5)1)

1 piece 
(SPQ 5)1)U HP

PCB depth 160 mm

3

7 30809-667 20838-001 20838-093

21101-705 24560-270

30809-635 30809-641
10 30809-677 20838-002 20838-094 30809-636 30809-642
12 30809-675 20838-003 20838-095 30809-637 30809-643
14 30809-673 20838-004 20838-096 30809-638 30809-644
21 30809-671 20838-005 20838-097 30809-639 30809-645
28 30809-669 20838-006 20838-098 30809-640 30809-646

PCB depth 220 mm

3

7 30809-668 20838-001 20838-093

21101-705 24560-270

30809-635 30809-641
10 30809-678 20838-002 20838-094 30809-636 30809-642
12 30809-676 20838-003 20838-095 30809-637 30809-643
14 30809-674 20838-004 20838-096 30809-638 30809-644
21 30809-672 20838-005 20838-097 30809-639 30809-645
28 30809-670 20838-006 20838-098 30809-640 30809-646

Depth 1000 mm (without thread for front panel and rear panel)

3

7 30809-679

– – – – – –

10 30809-698
12 30809-699
14 30809-680
21 30809-681
28 30809-682

Dimensions see 
page   7.94  7.95  7.94

1) SPQ (standard pack quantity): Part number includes 1 piece, but delivery is exclusively made in standard pack quantity (SPQ); 
please order at least the SPQ quantity or a multiple
Part no. includes one packing unit (PU); delivery is exclusively made in PU

For further information www.schroff.biz/oneclick
oneClick search code = Part no.

7_3_Kassetten_e.fm  Seite 91  Donnerstag, 20. September 2012  9:03 09



Part number in bold face type: ready for despatch within 2 working days
Part number in normal type: ready for despatch within 10 working days

7.92 Main Catalogue
E  10/2012

HF frame type plug-in units

HF frame type plug-in units

Order Information

Individual 
components Slide nuts, fixing for PCBs, mounting kit

Slide nut Fixing for PCBs Fixing material for one HF 
frame type plug-in unitM 2.5 M 3 Individual components Complete assembly 

kittop bottom

04807076 KAA45843

width across flats (WAF) 7, 
for insertion into HF body tube, 

top and bottom, 
provides lateral fixing (on right) 

bracket (stainless steel), 1.5 mm; 
please order retention screws separately

bracket top and 
bottom (stainless 

steel), 
1.5 mm; 

incl. two cheesehead 
screws M2.5 x 4

for complete assembly of 
a 3 U HF frame type plug-in 

unit: 
front panel, rear panel 

and handle, 
description see page

 7.93

Height Width PU 100 pieces PU 100 pieces 1 piece (SPQ 10)1) 1 piece (SPQ 10)1) PU 1 kit PU 1 kit
U HP

3

7

21100-112 21100-289 30809-701 30809-700 21101-937 21100-105

10
12
14
21
28

Accessories
Cheesehead screw
M2.5 × 4, St, nickel-
plated, PU 100 pieces

– – 21100-431 21100-431 – –

1) SPQ (standard pack quantity): Part number includes 1 piece, but delivery is exclusively made in standard pack quantity (SPQ); 
please order at least the SPQ quantity or a multiple 
Part no. includes one packing unit (PU); delivery is exclusively made in PU

For further information www.schroff.biz/oneclick
oneClick search code = Part no.

7_3_Kassetten_e.fm  Seite 92  Donnerstag, 20. September 2012  9:03 09



7.93

HF frame type plug-in units

Part number in bold face type: ready for despatch within 2 working days
Part number in normal type: ready for despatch within 10 working days

Main Catalogue
E  10/2012

HF frame type plug-in units

Order Information

Note
� Further collar screws and sleeves see page  7.107

Individual 
components Fixing material (100 pieces)

04802054

Description Item Required quantity
per plug-in unit

Description Qty/PU Part no.

Fixing parts for mounting the module in subrack or case

Plastic sleeve
for form hole 5.9 x 3.3, 
PA, UL 94 V-2, grey

4 2 at 7 HP Front panel is fitted to horizontal rail 
with threaded insert pushed in to 
front

100 21100-464
4 at > 7 HP

aza45933

Pozidrive/slotted collar screw
M2.5 × 11, St, nickel-plated 

5 2 at 7 HP Front panel is fitted to horizontal rail 
with threaded insert pushed in to 
front

100 21100-748
4 at > 7 HP

aza46586 06107050

Pozidrive/slotted collar screw
M2.5 × 12.3, St, nickel-plated

5 2 at 7 HP Front panel is fitted to horizontal rail 
with threaded insert pushed in to 
rear in the standard position

100 21101-101
4 at > 7 HP

aza46586 06107051

Fixing parts for mounting the module

Square nut
DIN 562, M2.5,St, 
nickel-plated

6 1 at 7 HP To mount handle on front panel 100 21100-359

06705050

Pozidrive countersunk screw
M2.5 × 12, St, nickel-plated

7 1 at 7 HP To mount handle on front panel 100 21100-507

aza45177

Slotted cheesehead screw
M2.5 × 16, St, nickel-plated

8
1 at 7 HP

To mount handle and front panel on 
HF body tube 100 21100-150

2 at > 7 HP
aza45467

Raised Pozidrive 
countersunk panhead screw
M2.5 × 8, St, nickel-plated

9 2 To mount front panel on HF body 
tube 100 21100-429

06702056

Pozidrive countersunk screw
M2.5 × 6, St, nickel-plated

10 4 To mount rear panel on HF body 
tube 100 21100-515

06702056

7_3_Kassetten_e.fm  Seite 93  Donnerstag, 20. September 2012  9:03 09



Part number in bold face type: ready for despatch within 2 working days
Part number in normal type: ready for despatch within 10 working days

7.94 Main Catalogue
E  10/2012

HF frame type plug-in units

Text

Text

Text

Text

Dimensions HF body tube

7 HP 12 HP 10, 14, 21, 28 HP

A4-247c 04807079 A4-247a

2

3
,6

7
,3

9,96 15,24

20,32

30,48

57,5

B

2

3
,6

7
,3

9,96 10,16

n x 5,08

A

B

2 5

3
,6

7
,3

9,96 10,16

32,1

B

Dimensions table
Dimension 7 HP 10 HP 12 HP 14 HP 21 HP 28 HP

mm
n – 3 × 5.08 – 7 × 5.08 14 × 5.08 21 × 5.08
A – 47.34 – 67.66 103.22 138.78
B 26.34 41.58 51.74 61.90 97.46 133.02

Dimensions Rear panel with/without cut-out for connector

7 HP 10, 12, 14, 21, 28 HP 7 HP 10, 12, 14, 21, 28 HP

04807086 04802053 04807087 04807083

32

12,1

9,5

1
0
8
,4

8
8
,2

34

34

15,7

12

Ø
4,3

Ø
12,8

7,7

1
0
8
,4

8
8
,2

4
0

2
8
,5

1
0

8
,4

32

1
0

8
,4

A

Dimensions table
Width A

mm
7 HP 32.00

10 HP 47.24
12 HP 57.40
14 HP 67,40
21 HP 103.12
28 HP 136.68

7_3_Kassetten_e.fm  Seite 94  Donnerstag, 20. September 2012  9:03 09



7.95

HF frame type plug-in units

Part number in bold face type: ready for despatch within 2 working days
Part number in normal type: ready for despatch within 10 working days

Main Catalogue
E  10/2012

Text

Text

Text

Dimensions Front panels

Unshielded Shieldable, slotted for EMC stainless steel gasket
7 HP 10, 12, 14, 21, 28 HP 7 HP 10, 12, 14, 21, 28 HP

KAA43073 04807084 04807085 04803052

ø5.9

ø2.5

3
.3

2
.5

ø2.5

37.45

35.22

1
4

.7

10.16

1
2

8
.4

1
2

2
.4

9
9

ø5.9

ø2.5

3
.3

A

X2
.5

ø2.5

ø2.5

3

7.45

1
4

.7

10.16

B

1
2

8
.4

1
2

2
.4

9
9

ø5.9

1.8

ø2.5

ø2.5

3
.3

1
0

.7

5
2

.5

1.8

1
0
.6

5 ø2.5

3

7.45 5.08

35.22

1
4

.7

10.16

1
2

8
.4

1
2

2
.4

9
9

ø5.9

1.8

ø2.5

ø2.5

3
.3

1
0
.7

A

X

5
2
.5

1.8

1
0
.6

5

ø2.5

ø2.5

3

7.45 5.08

1
4
.7

10.16

B

1
2
8
.4

1
2
2
.4

9
9

Dimensions table
Width A w

mm mm
7 HP 32.22 –

10 HP 50.46 35.56
12 HP 60.62 45.72
14 HP 70.78 55.88
21 HP 106.34 91.44
28 HP 141.90 127.00

Dimensions Front handle

Dimensions table
Width Width

HP mm
10 HP 49.4
12 HP 59.6
14 HP 69.7
21 HP 105.2

A4-328e 28 HP 140.8

7_3_Kassetten_e.fm  Seite 95  Donnerstag, 20. September 2012  9:03 09



Frame type plug-in units

7.96 Part number in bold face type: ready for despatch within 2 working days
Part number in normal type: ready for despatch within 10 working days

Main Catalogue
E  10/2012

Main CataloguePart number in bold face type: ready for despatch within 2 working daysPart number in normal type: ready for despatch within 10 working days

� For fitting of e.g. subracks, wall mounted cases, frame type 
plug-in units or PSUs on a horizontal rail with lip

� Adaptor is bolted to the desired product and can then be clipped 
onto the lipped horizontal rail (DIN 43880)

Delivery comprises

Order Information

Adaptor for horizontal rail mounting

04812021

11395007

Example: horizontal rail adaptor with lip for 19" PSU

Item Qty Description
1 1 Adaptor, Al extrusion, length 160 mm
1 1 Fixing material

Description Part no.
Adaptor for horizontal rail mounting 11000-002

For further information www.schroff.biz/oneclick
oneClick search code = Part no.

7_3_Kassetten_e.fm  Seite 96  Donnerstag, 20. September 2012  9:03 09



Frame type plug-in units

7.97Part number in bold face type: ready for despatch within 2 working days
Part number in normal type: ready for despatch within 10 working days

Main Catalogue
E  10/2012

7_3_Kassetten_e.fm  Seite 97  Donnerstag, 20. September 2012  9:03 09



minipacOverview  . . . . . 0

Cabinets . . . . . . 1

Wall mounted 
cases  . . . . . . . . 2 

Accessories for
cabinets and wall
mounted cases  3

Climate control  4

Desk-top cases  5

Subracks/ 
19" chassis  . . . 6

Front panels, 
plug-in units  . . 7

Systems . . . . . . 8

Power supply 
units . . . . . . . . . 9

Backplanes  . . 10

Connectors, front 
panel component 
system . . . . . . 11

Appendix . . . . 12

7.98 Main Catalogue
E  10/2012

minipacMain Catalogue

Small aluminium extrusion cases to hold PCBs

� For applications e.g. in industry, railway technology, test and measurement, communications and network 
technology

minipacMain CataloguePart number in bold face type: ready for despatch within 2 working daysPart number in normal type: ready for despatch within 10 working days

04812001

Fixing options

04812006 04811015 04812003

Various dimensions/colours

04812023 04812024 04812025

Individual shapes

04812026 04812027 04812028

7_4_minipac_e.fm  Seite 98  Donnerstag, 20. September 2012  12:44 12



minipac

7.99Main Catalogue
E  10/2012

minipacMain CataloguePart number in bold face type: ready for despatch within 2 working daysPart number in normal type: ready for despatch within 10 working days

Convenient small case - flexible enough for all your requirements
� To accomodate standardised and non-standardised PCBs
� As desktop enclosure, for bolting (e.g. to a mounting plate) or 

for mounting on DIN support rail (DIN 43880)
� High level of heat dissipation through large aluminimum surface of case
� High stability
� Type of protection: IP 40

Trapezium shape

� Accommodates up to 3 PCBs of different heights - 
50, 60 or 65 mm and board depth 100 or 160 mm

� As desktop enclosure, for wall mounting or for mounting on 
DIN support rail (DIN 43880)

Rectangular shape

� Accommodates up to 4 standardised PCBs in euroboard 
format, height 100 mm (3 U) or up to 8 non-standardised PCBs, 
height 60 mm and board depth 160 mm

� Versions as desktop enclosure or for wall mounting

Individual cases in aluminium extrusion - 
our minipac variety to your specifications

� Other case lengths

� Other case shapes

� Cut-outs for lamps, switches, connectors, cable ducting, etc.

� Individual printing of cover plates

� Surface finish anodised or powder-coated

04811014

04812002

30407004

30402151

FRONT PANEL

EXPRESS

Overview  . . . . 7.98

Trapezium 
shape . . . . . . . . . . 7.100

Rectagonal 
shape . . . . . . . . . .  7.101

7_4_minipac_e.fm  Seite 99  Donnerstag, 20. September 2012  12:44 12



Part number in bold face type: ready for despatch within 2 working days
Part number in normal type: ready for despatch within 10 working days

7.100 Main Catalogue
E  10/2012

minipac

minipacMain CataloguePart number in bold face type: ready for despatch within 2 working daysPart number in normal type: ready for despatch within 10 working days

� Accommodates 3 non-standardised PCBs 
(height 50, 60 and 65 mm, depth 100/160 mm)

� PCB thickness 1.6 mm, spacing 15.24 mm (3 HP)

� Different versions
– Wall mounting
– For mounting on a DIN support rail (DIN 43880)
– Desktop version 

Delivery comprises

Order Information

Note
� On request: 

- Other case lengths 
- Cut-outs for LEDs, switches, connectors or couplings 

(USB, SUB-D) 
- Individual printing on cover plate

Trapezium shape

04812004

04811053

Dimensions of body tube

04812053 04812052

Desktop version Wall mounting 
(on short side of trapezoid)

04812051 04812057

Wall mounting 
(on long side of trapezoid)

For mounting on a DIN support 
rail (DIN 43880)

65,4

74,2

60,4

50,4

53,1

1
5

,2
44

6
,1

2

47,5

7
5

,6

2,5

D

52

2,5

5
4

,2

2
6

,4

4
1

,7

6,4
13

25

52

2,5

D

2
6

,4

8
8

,1

6,4
13

25

47,5

3,9

7
5

,6

2,5

                     

Item Qty Description
1 1 Case, trapeziform, Al extrusion
2 2 Lateral cover plate, 2.5 mm, anodised
3 1 Fixing material kit, user manual

Description Length Part no.
mm

Case, trapeziform, Al extrusion, black anodised; 
lateral cover plates anodised, thickness 2.5 mm 
(no mounting option)

100.5 24814-008

Case, trapeziform, Al extrusion, black anodised, 
lateral cover plates anodised, thickness 2.5 mm 
(for wall mounting on long side of trapezoid)

100.5 24814-010

Case, trapeziform, Al extrusion, anodised; 
lateral cover plates anodised, thickness 2.5 mm 
(for wall mounting on short side of trapezium)

100.5 24814-011

Case, trapeziform, Al extrusion, black anodised; 
for DIN support rail mounting (DIN 43880); 
lateral cover plates anodised, thickness 2.5 mm 
(for mounting on a DIN support rail, DIN 43880)

160.5 24814-014

Accessories
Rubber foot for desktop version, PU 4 pieces 21102-025

For further information www.schroff.biz/oneclick
oneClick search code = Part no.

7_4_minipac_e.fm  Seite 100  Donnerstag, 20. September 2012  12:44 12



7.101

minipac

Part number in bold face type: ready for despatch within 2 working days
Part number in normal type: ready for despatch within 10 working days

Main Catalogue
E  10/2012

minipacMain CataloguePart number in bold face type: ready for despatch within 2 working daysPart number in normal type: ready for despatch within 10 working days

� Accommodates 4 standardised PCBs 
(height 100 mm, depth 160 mm) or rotated by 90° to 
accomodate 8 non-standardised PCBs (height 60 mm, 
depth 160 mm)

� PCB thickness 1.6 mm, spacing 15.24 mm (2 HP)

� Different versions
– Wall mounting
– Desktop version

Delivery comprises

Order Information

Note
� On request: 

- Other case lengths 
- Cut-outs for LEDs, switches, connectors or couplings 
(USB, SUB-D)

- Individual printing on cover plate

Rectangular shape

04812002

04812050

Dimensions of body tube

04812056 04812055

Desktop version Wall mounting 
(on long side of rectangle)

04812054

Wall mounting (on short side of rectangle)

100,6

2

10,16

110,9

D

1
0

,1
6

6
0

,6

7
0

,3

2

71,7

2,52,5

D

1
1

2
,3

76,2
2,5

D

2
6

,4

1
1

2
,3

6,4
13

25

116,8

2,5

D

2
6

,4

7
1

,7

6,4
13

25

                     

Item Qty Description
1 1 Case, rectangular, Al extrusion
2 2 Lateral cover plate, 2.5 mm, anodised
3 1 Fixing material kit, user manual

Description Length Part no.
mm

Case, rectangular, Al extrusion, black anodised; 
lateral cover plates anodised, thickness 2.5 mm 
(desktop version)

160.5 24814-024

Case, rectangular, Al extrusion, anodised; 
lateral cover plates anodised, thickness 2.5 mm 
(for wall mounting on long side)

160.5 24814-025

Case, rectangular, Al extrusion, anodised; 
lateral cover plates anodised, thickness 2.5 mm 
(for wall mounting on short side)

160.5 24814-027

Accessories
Rubber foot for desktop version, PU 4 pieces 21102-025

For further information www.schroff.biz/oneclick
oneClick search code = Part no.

7_4_minipac_e.fm  Seite 101  Donnerstag, 20. September 2012  12:44 12



Part number in bold face type: ready for despatch within 2 working days
Part number in normal type: ready for despatch within 10 working days

7.102 Main Catalogue
E  10/2012

PCB accessories

BPA45909

BPA45910 BPA45910

PCB accessoriesMain CataloguePart number in bold face type: ready for despatch within 2 working daysPart number in normal type: ready for despatch within 10 working days

� For europacPRO, multipacPRO, ratiopacPRO, propacPRO and 
compacPRO

� Mounts behind front panel

� Insertion and extraction

� Can be labelled

� In accordance with IEC 60297-3-102

Order Information

Note
� Minimum spacing of guide rail 3 HP
� for board thickness 1.6 mm
� Please order PCB retainer C separately

06002057

� For europacPRO, multipacPRO, ratiopacPRO, propacPRO and 
compacPRO

� Can also be used without PCB handle

� Application on top and bottom horizontal rail with "accessory" 
type guide rail

Order Information

Note
� Minimum spacing of guide rail 3 HP
� Cannot be used with propac, compac, inpac cases

PCB handle C

Item Description Material Colour Qty/PU Part no.

1 PCB handle C PBT, 
UL 94 V-0 red 10 24560-378

3
Identification 
strip (1 sheet 
= 438 pieces)

Polyester film, 
self-adhesive

white/
matt 1 60817-228

For further information www.schroff.biz/oneclick
oneClick search code = Part no.

PCB retainer C

Item Description Material Colour Qty/PU Part no.

1 PCB retainer C PBT, 
UL 94 V-0 red 10 24560-377

For further information www.schroff.biz/oneclick
oneClick search code = Part no.

7_5_baugruppen_zubehoer_e.fm  Seite 102  Freitag, 21. September 2012  2:24 14



7.103

PCB accessories

Part number in bold face type: ready for despatch within 2 working days
Part number in normal type: ready for despatch within 10 working days

Main Catalogue
E  10/2012

B42729

BZB42725 BZA42724

� For bolting or riveting to 1.6 mm PCBs (top and bottom)

� Extraction function only

� Can be labelled

Order Information

SPQ (standard pack quantity): Part number includes 1 piece, but 
delivery is exclusively made in standard pack quantity: Please 
order at least 10 pieces PCB handles or a multiple 

Note
� Can be used with PCB retainer B1, B2, see page  7.104

BZA46427

BZB42726

� For bolting to PCBs (1.6 mm); 
can only be used on bottom horizontal rail

� Extraction function only

� Can be labelled

Order Information

SPQ (standard pack quantity): Part number includes 1 piece, but 
delivery is exclusively made in standard pack quantity: Please 
order at least 10 pieces printed circuit board handles or a multiple 

Note
� Can be used with PCB retainer B1, B2, see page  7.104

PCB handle B1

Item Description Material Colour Qty/PU Part no.

1 PCB handle, 
bolt-on PBT, UL 94 V-0 red 1 piece 

(SPQ 10) 60817-067

1a PCB handle for 
rivet fitting PBT, UL 94 V-0 red 1 piece 

(SPQ 10) 60817-072

2 Countersunk 
screw

St, nickel-plated, 
DIN 965 – 100 21100-515

2a Tubular rivet Brass, DIN 7340 – 100 21100-076

3 Indentification 
strip

Polyester film, 
self-adhesive white 100 21100-569

For further information www.schroff.biz/oneclick
oneClick search code = Part no.

PCB handle B2

Item Description Material Colour Qty/PU Part no.

1 PCB handle PBT, UL 94 V-0 red 1 piece 
(SPQ 10) 60817-055

2
Slotted 
cheesehead 
screw, M2.5 × 6

St, nickel-plated – 100 21100-146

For further information www.schroff.biz/oneclick
oneClick search code = Part no.

7_5_baugruppen_zubehoer_e.fm  Seite 103  Freitag, 21. September 2012  2:24 14



Part number in bold face type: ready for despatch within 2 working days
Part number in normal type: ready for despatch within 10 working days

7.104 Main Catalogue
E  11/2013

PCB accessories

06109050

PCB accessories

� For fixing PCB

� Can also be used without PCB handle

� Application on top and bottom horizontal rail

� Suitable for PCB handles B1 and B2

Order Information

Note
� Groove width 2 mm

A3261

� For board thickness 1.6 mm

Order Information

SPQ (standard pack quantity): Part number includes 1 piece, but 
delivery is exclusively made in standard pack quantity: Please 
order at least 10 pieces PCB handles or a multiple

A4-1302

� For board thickness 1.6 mm

Order Information

SPQ (standard pack quantity): Part number includes 1 piece, but 
delivery is exclusively made in standard pack quantity: Please 
order at least 10 pieces PCB handles or a multiple 

PCB retainer B1, B2

Description Material Colour Qty/PU Part no.

PCB retainer B1, B2 PPO, 
UL 94 V-0 red 10 24560-381

PCB handle, snap-on

Item Description Material Colour Qty Part no.

1 PCB handle, 
can be locked

PPE, 
UL 94 V-1 grey 1 piece 

(SPQ 10) 60800-039

1 PCB handle, 
can be locked

PPE, 
UL 94 V-1 red 1 piece 

(SPQ 10) 60800-045

Transparent strips Item 3, 50 × 5 × 0.3 mm, 
PU 100 pieces 69000-007

PCB handle, can be bolted/riveted

Item Description Material Colour Qty Part no.

1 PCB handle, 
can be bolted/riveted PC yellow 1 piece 

(SPQ 10) 60817-050

2 PCB handle, 
can be bolted/riveted PC red 1 piece 

(SPQ 10) 60817-051

1 PCB handle, 
can be bolted/riveted PC green 1 piece 

(SPQ 10) 60817-052

Identification strip Item 2, carton, white, 
37.5 × 7 × 0.15 mm, 1 sheet = 105 pieces 69000-969

Pozidrive panhead screw M2.5 × 8, St, nickel-plated, 
PU 100 pieces 21101-069

Hexagonal nut A 2.5, nickel-plated, PU 100 pieces 21100-144
Tubular rivet, form B (roundhead) B 2.5 x 0.25 x 5, 
St/brass, raw, DIN 7340, PU 100 pieces 21100-459



7.105

PCB accessories

Part number in bold face type: ready for despatch within 2 working days
Part number in normal type: ready for despatch within 10 working days

Main Catalogue
E  10/2012

LKA42605

Retention bracket (DIN 41612)

LKA42606

� Accepts PCBs in euroboard format, 100 × 160 mm

� For female connectors to EN 60603 (DIN 41612)

Delivery comprises (kit)

Order Information

Note
� Connector (item 2) see page 11.2

LKA42609

LKA42593

� Protects large PCBs from bending

� Creates an additional crossbar (corresponding to IEEE 
recommendations, P 896, Nubus, Multibus® II etc.) that links 
all connectors mecanically

� Fixing points match connectors to EN 60603 (DIN 41612), 
types B, R, C and D

Delivery comprises (kit)

Order Information

PCB accessoriesMain CataloguePart number in bold face type: ready for despatch within 2 working daysPart number in normal type: ready for despatch within 10 working days

� Covers to protect solder side of board, see page  7.62

PCB pocket

Item Qty Description
1 1 PCB pocket, PBT (P), grey, UL 94 V-0
3 2 Retention bracket, St, 2 mm, nickel-plated
4 2 Cheesehead screw M2.5 × 6, St, nickel-plated
5 2 Cheesehead screw M4 × 12, St, nickel-plated

Item Description Material Colour Qty/PU Part no.
1 PCB pocket PBT (P) grey 1 20800-032

For further information www.schroff.biz/oneclick
oneClick search code = Part no.

PCB strengthening (9 U)

Item Qty Description
1 1 PCB strengthening, Al extrusion, anodised, 

cut edges plain; 
separator, stainless steel, riveted on

2 6 Cheesehead screw M 2.5 × 12, St, nickel-plated
3 6 Washer 2.6, St, nickel-plated

Description Height H Part no.
mm

For 9 U PCBs 361.6 20809-441

PCB covers

11092008

For further information www.schroff.biz/oneclick
oneClick search code = Part no.

7_5_baugruppen_zubehoer_e.fm  Seite 105  Freitag, 21. September 2012  2:24 14



Part number in bold face type: ready for despatch within 2 working days
Part number in normal type: ready for despatch within 10 working days

7.106 Main Catalogue
E  10/2012

PCB accessories

Fixing parts for extractor handles in key form 2

Individual 
components PCB support for static trapeziform handle

Drill hole dimensions on PCB

3 HE 6 HE bga43076 bga43077 bza46430

Fixing parts Item Required quantity Qty/PU Part no.
3 U 6 U

PCB bracket
4 clearance holes for front panel/PCB fixing, 
4 recesses for hexagon nuts; 
PBT, UL 94 V-0, red

5 1 2 1 piece 
(SPQ 10)1) 60807-011

PCB bracket
4 threads M2.5 for front panel/PCB fixing, 
PBT, UL 94 V-0, grey, 1 piece

5a 1 2 1 piece 
(SPQ 10)1) 60807-211

AZA45177

PCB bracket
Clearance hole for front panel fixing, with recess for hexagon nut, 
drill hole for self-tapping screw for PCB fixing, PBT, UL 94 V-0, grey, 
1 piece

5b 2 4 1 piece 
(SPQ 10)1) 60807-183

AZA45177

PCB bracket
2 threads M2.5 for front panel/PCB fixing, die-cast zinc, 1 piece

5c 2 4 1 piece 
(SPQ 10)1) 60807-181

06707050

PCB bracket
Thread M2.5 for front panel fixing, clearance hole for PCB fixing, 
die-cast zinc, 1 piece

5d 2 4 1 piece 
(SPQ 10)1) 60807-203

06707050

PCB bracket
4 threads M2.5 for fixing front panel/PCB for recessed PCB 
mounting (20 mm), mounting depth 192.24 mm, St, zinc-plated; 
not for europacPRO, multipacPRO, ratiopacPRO, propacPRO or 
compacPRO, 1 piece

5e 1 2 1 piece 
(SPQ 10)1) 30808-871

AZA46586

1) SPQ (standard pack quantity): Part number includes 1 piece, but delivery is exclusively made in standard pack quantity (SPQ); 
please order at least the SPQ quantity or a multiple

5 / 5a

5c / 5d

5b

11

13

14 / 14a

5e

7_5_baugruppen_zubehoer_e.fm  Seite 106  Freitag, 21. September 2012  2:24 14



7.107

Assembly parts

Part number in bold face type: ready for despatch within 2 working days
Part number in normal type: ready for despatch within 10 working days

Main Catalogue
E  10/2012

06702062

� Vibration and shock proof

� 1/4 rotary lock with defined stop

� Detection of fastening position through slot position

Delivery comprises

Order Information

Note
Quick-release fasteners: mounting without threaded insert

06702061

Order Information

Note
� Metal sleeves must be pressed-in into front panels
� Sleeve does not fit 2 HP wide front panels
Assembly parts

Assembly parts

� Quick-release fasteners

� Sleeves

� Screws

� Cage nuts

� Tools

Quick-release fasteners

Qty Description
1 Locking pin, St, locking, Zn die-cast
1 Press-in sleeve, POM

Item Description Qty/PU Part no.
1 With slotted head, grey 100 21101-847
1 With slotted head, black 100 21101-848
2 With knurled and slotted head, grey 100 21101-849
2 With knurled and slotted head, black 100 21101-850

Sleeves

Item Description Application Qty/PU Part no.
pieces

2 Plastic sleeve, 
PA, grey

for unshielded 
front panels 100 21100-464

2 Plastic sleeve, 
PA, black

for unshielded 
front panels 100 21100-591

1 Metal sleeve, brass, 
nickel-plated

for shielded 
front panels 10 21100-659

1 Metal sleeve, brass, 
nickel-plated

for shielded 
front panels 100 21100-660

1 Metal sleeve, brass, 
black

for shielded 
front panels 10 21100-885

1 Metal sleeves, 
stainless steel

for shielded 
front panels 10 21100-661

1 Metal sleeves, 
stainless steel

for shielded 
front panels 100 21100-662

Accessories
Pozidrive/slotted collar screw M2.5 × 11, St, 
nickel-plated, PU 100 pieces 21100-748

Pozidrive/slotted collar screw M2.5 x 12.3, St, 
nickel-plated, PU 100 pieces 21101-101

7_5_baugruppen_zubehoer_e.fm  Seite 107  Freitag, 21. September 2012  2:24 14



Part number in bold face type: ready for despatch within 2 working days
Part number in normal type: ready for despatch within 10 working days

7.108 Main Catalogue
E  10/2012

Assembly parts

Collar screws

Description Material Dimension Qty/PU Part no.

Pozidrive/slotted collar screw

St, nickel-plated M2.5 x 11 100 21100-748

St, zinc-plated, black M2.5 x 11 100 21100-749

Stainless steel, 
with slot M2.5 x 11 100 21101-323

AZA46586

St, nickel-plated M2.5 х 12.3 100 21101-101

St, zinc-plated, black M2.5 х 12.3 100 21101-102

Stainless steel M2.5 х 12.3 100 21101-906

Torx collar screw 

St, nickel-plated M2.5 х 12.3 100 21101-782

AZA45941

St, zinc-plated, black M2.5 х 12.3 100 21101-783

06709050

Collar screw with knurled head 

Brass, nickel-plated M2.5 х 11 50 21100-268

06709051

Brass, nickel-plated M2.5 х 12.3 100 21101-749

06709052

Brass, nickel-plated M2.5 х 12.3 100 21101-909

06709053

Slotted collar screw with knurled head Brass, nickel-plated M2.5 х 11 100 21101-106

11

3,5

6

12,3

3,5

6

12,3

10,5
13

11

3,5

6

7_5_baugruppen_zubehoer_e.fm  Seite 108  Freitag, 21. September 2012  2:24 14



7.109

Assembly parts

Part number in bold face type: ready for despatch within 2 working days
Part number in normal type: ready for despatch within 10 working days

Main Catalogue
E  10/2012

06706053

Order Information

Countersunk screws

Description Material Dimension Qty/PU Part no.

Pozidrive countersunk screw 

St, nickel-plated M2.5 х 6 100 21100-515

aza45182

St, nickel-plated M2.5 х 12 100 21100-507

Torx countersunk screw

St, zinc-plated M4 х 5 100 24560-139

AZA46585

St, zinc-plated M4 х 14 100 24560-145

Raised Pozidrive countersunk screw 

St, nickel-plated M2.5 х 8 100 21100-429

St, nickel-plated M2.5 х 10 100 21100-500

St, zinc-plated, black M2.5 х 10 100 21100-649

06702056

St, nickel-plated M3 х 8 100 21100-542

St, zinc-plated, black M3 х 8 100 21100-648

06707057

Torx countersunk screw, self-tapping St, zinc-plated 2.5 х 7.7 100 24560-158

Screws for plug-in units

Description Qty/PU Part no.
Slotted flathead screw, 6-32 UNC x 6 100 21100-712

7_5_baugruppen_zubehoer_e.fm  Seite 109  Freitag, 21. September 2012  2:24 14



Part number in bold face type: ready for despatch within 2 working days
Part number in normal type: ready for despatch within 10 working days

7.110 Main Catalogue
E  10/2012

Assembly parts

Panhead screws

Description Material Dimension Qty/PU Part no.

Pozidrive panhead screw

St, nickel-plated M2.5 х 5 100 21101-314

St, nickel-plated M2.5 х 6 100 21101-219

St, nickel-plated M2.5 х 8 100 21101-069

St, nickel-plated M2.5 х 10 100 21101-220

St, nickel-plated M2.5 х 12 100 21101-221

St, nickel-plated M2.5 х 16 100 21101-222

06702057

St, zinc-plated M5 х 12 100 21100-788

Torx panhead screw

St, zinc-plated M2.5 х 6 100 24560-159

St, nickel-plated M2.5 х 7 100 24560-147

St, nickel-plated M2.5 х 10 100 24560-148

St, nickel-plated M2.5 х 12 100 24560-161

St, nickel-plated M2.5 х 14 100 24560-162

St, zinc-plated M4 х 6 100 24560-135

St, zinc-plated M4 х 6 100 24560-151

St, zinc-plated M4 х 10 100 24560-155

AZA45940

St, zinc-plated M4 х 14 100 24560-130

06702051

Screw + securing washer (PA) St, nickel-plated M2.5 х 12 100 21100-777

Torx panhead screw, self-tapping

St, zinc-plated, black 2.5 х 7.3 100 24560-157

06707058

St, zinc-plated 2.5 х 9.3 100 24560-141

7_5_baugruppen_zubehoer_e.fm  Seite 110  Freitag, 21. September 2012  2:24 14



7.111

Assembly parts

Part number in bold face type: ready for despatch within 2 working days
Part number in normal type: ready for despatch within 10 working days

Main Catalogue
E  10/2012

Grub screws

Description Material Dimension Qty/PU Part no.

Grub screw

Stainless steel M2.5 х 9 100 21101-359

St, nickel-plated M2.5 х 8 100 21100-276

06702053

St, zinc-plated M3.0 х 8 100 21100-646

Washers

Description Material Dimension Qty/PU Part no.

Washer 

Plastic, PA 2.7 х 5 х 1 100 21101-121

Plastic, PA 2.8 х 6,3 х 2 100 21101-964

AZA45178

St, nickel-plated A2.7 DIN 125 100 21100-721

AZA45180

Shakeproof washer  St, nickel-plated A 2.6 100 21100-142

Nuts

Description Material Dimension Qty/PU Part no.

AZA43239

Hexagon nut St, nickel-plated M2.5 100 21100-144

06707050

Square nut St, nickel-plated M2.5 100 21100-359

AZA45921

Square nut St, zinc-plated M4 100 24560-140

Tubular rivet

Description Material Dimension Qty/PU Part no.

06706050

Tubular rivet, form B (roundhead) St/brass, raw B 2.5 х 0.25 х 5 100 21100-459

7_5_baugruppen_zubehoer_e.fm  Seite 111  Freitag, 21. September 2012  2:24 14



Part number in bold face type: ready for despatch within 2 working days
Part number in normal type: ready for despatch within 10 working days

7.112 Main Catalogue
E  10/2012

Assembly parts

Order Information

Note
� Assembly tool to insert keying/coding pegs in guide rails 

is available on request

Assembly tools

Description Application Dimension Qty/PU Part no.

Torx screwdriver 

For M2.5 screw T8 1 64560-026

AZA45925

For M4 screw T20 1 64560-027

aza45938

Assembly tool Exclusively to fix stainless steel 
EMC gaskets in horizontal rails – 1 24560-271

aza45937

Assembly tool To fix stainless steel EMC gaskets 
on front panels with lateral slot – 1 24560-270

7_5_baugruppen_zubehoer_e.fm  Seite 112  Freitag, 21. September 2012  2:24 14



7.113

Assembly parts

Part number in bold face type: ready for despatch within 2 working days
Part number in normal type: ready for despatch within 10 working days

Main Catalogue
E  10/2012

32506001

� Measuring tape with cm, U-, HP-division (length 2 m)

� Plastic housing, metal measuring tape with automatic collection

Order Information

Measuring tape

Description Qty/PU Part no.
Measuring tape  1 89009-001

For further information www.schroff.biz/oneclick
oneClick search code = Part no.

7_5_baugruppen_zubehoer_e.fm  Seite 113  Freitag, 21. September 2012  2:24 14



Schroff gmbh, Langenalber Strasse 96–100, D-75334 Straubenhardt   WWW.PENTAIREQUIPMENTPROTECTION.COM

Main Catalog
24th Edition

Main Catalog
24th Edition | October 2012

39601-641 © 2012 Pentair Equipment Protection

Equipment Protection Solutions

18002_Hauptkatalog_Schroff_Umschlag_AK03_EN.indd   1 10.10.2012   11:15:02




